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1. A five-digit number is taken. Sum of the
first four digits (excluding the number at the
unit's digit) equals the sum of all the five
digits. Which of the following will not divide
this number necessarily ?

a) 10

b) 2

T

d 5

1. vfaamuhwm!ﬂmtlw ¥
m u’tnmntamwuﬂ@
mﬁmv&huﬁmtu’mtmtl
fFafaf@a & @ o9 3w @ & Iaws
*u A fRuifea adf s3m 2
a) 10
b) 2

4
d) 5







2. A number 15B is divisible by 6. Which of 2. U% ¥&a1 158, 6 ¥ RWsT ¢ yw i& B &
these will be true about the positive integer B? a7 ga# & ®l7 sea g ?

a) B will be even a) BUS gAEEATE

b) B will be odd b ewwRwmasmt SR

¢) B will be divisible by 6 c) B6RRwsTEI
\9/Both(a)an(c) \/d)/(a)m(c)ﬁ “2 - %\G\T

2%%\6\7 &:)‘/L’

6+R —~3%P®1,\
Bz@@s




67. For any choices of values of X, Y and Z, the 67. X, Y 3R Z & A1+l & 5t 1t Rewu & fAg,
6-digit number of the form XYZXYZ k@xvztwuﬁs-mmmm

divisible by UPSCPT2023 &7
a) 7and 11 only a) ¥aw7 3R 11
b) 11 and 13 only b) Fad 11313
¢) 7 and 13 only ¢) Faw7 3R 13

\/0)/7,11 and 13 LA L3

,




70. A number N is formed by writing 9 for 99  70. 9 ®! 99 R fr@? WX & ¥&N N Tt 21
times. What is the remainder if N is divided by df¢ N &1 13 | Rwifsa fFar sw &t Awwa
132 UPSCPT 2023 fFaigim?

a) 11 a1
b) 9 b) 9
- % Q) ¥
d) 1 d) 1
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1) A watch which gains uniformly ,is 5 1) U® U8l &t 0 #v | agdt 8, g War
min,slow at 8 o'clock in the moming on @) §a¥ 8 T4 5 fire divft o) Bt @ ok
sunday and it is 5 min 48 sec. fast at 8  IT® AR # A 8 TN 5 AT 48 VST

p.m on following sunday. when was it @9 (BRR) g1t 81 og vl »a wft ¥y

correct? mmih

a) 7pm on Wednesday a) mﬂmnﬂ

b)” 20 min past 7 pm on Wednesday \_b)-YYaR ¥t um 7 aweR 20 e
¢) 15 min past 7 pm on Wednesday ¢) qUAR $ AW 7 WS 15 e

d) 8 pm on Wednesday d) Wﬂ!ﬁlﬁ
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2) In a watch, the minute hand crosses the 2) uw wdl & firre o | W=y wwg ¥ e 3

hour hand for the third time exactly after
every 3 hr 18 min and 15s of normal time.
What is the time gained or lost by this
watch in one day?

a) 14 min 10 s lost

Q:(sma:m

¢) 13 min 20 s gained
d) 14 min 40 s gained

U2 18 fire At 15 ¥ & o die Hiad

TR 92 ¥ g # ur pfa) s B g v
u® 3= & fva=n aw ar ohf gt 2

a) 14 fise 10 ¥ i g

 by/73 Rz 48 s et e

¢) 13 =z 20 9T 1 wuy aw grft
d) 14 =7 40 9T &1 99y W gl
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CLOCK

3) Find the time between 11 am and 12 pm, 3) 11 &% qafg=T X JuEY 12 76t & fw »1 39
when the angle between minute and hour WY &) yid #Iftig, e firse ot w2 & w¢

hmd\ia:sm & dha &1 ®iv 45 B9 8
SlA

i
\%mmn \)y/ntmum S\/'W
(B) 13 #in past 11 b) 11 qWSY 13 A= H
(€) 12 min past 11 ¢ 11 Tus 12 =

(D) 68 2/11 min past 11 d) 11 TWST 68 2/11 e
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4) Between 5 and 6, a lady looked at her 4) 5 ¥ ¢ 70 & #iw vw uften # o awh
watch and mistaking the hour hand for the v W v ok IuA 92 ¥ g & e A
minute hand, she thought that the time  ¥f wug frar ok 3& o & Iu® vt =

was 57 minutes earlier than the correct  wwg W WY | 57 e vgd &, @ wawv
time. The correct time was

a)Z4 minutes past 5
b) 12 minutes past 5
¢) 36 minutes past 5
d) 48 minutes past 5
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5) The minute hand of a clock overtakes the 5) U™ U3l ¥ e it g wét 5wy & 76 fA=e
hour hand at intervals of 76 min of the & JET® W W2 ¥ §f | e 8, 9 wagu
correct time. How much does a clock gain ﬁ"ﬂ“ﬁﬂﬂﬁﬂhmmw

or lose in a day ? LGIGIE &

a) 198 min (loss) a) 198 fiye (i)

b) 198 min (gain) b) 198 e @w)
\}o/u:ta/zosminaos) \ 199 169/209 fire (i)

d) 199 min (gain) d) 199 fise @w)










CALENDAR

1) What will be the day on 1** January 2011 1) 32 1 &=adl, 2007 & WAaR 8, &t 1 w=ad,
when 1% January 2007 is Sunday? 2011 uﬁmh-mf%?ﬁ'm

A. Monday A. BTHAR

. Ny B. HIT®AR
SVl _CAFAR
= TR D IIER—

@ Sunday E) TRa
) §
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2) The day on 21-02-2001 was Sunday. A 2) 21-02-2001 H! AR U1I §TH THI@ & (&
couple was married on this date. How 1 L) mﬁgﬁ 4t @ 15 aul | fFa
many marriage anniversaries would fall TSl Bt grafiRg Waar &t ik

on Sunday in the next 15 years?

a)1 a) 1

\74 \bﬁ
c)5 ) 5

d)?9 d 9
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3) Which of the following is a leap year? 3) FufsfRad s -are duad @2

4 o

b) 1400 b) 1400
¢) 3400 c) 3400
d) 3000 d) 3000




RIS PG
CALENDAR

4) The calendar for the year 2007 will be the 4) a4 2007 &1 $dsy Pu af & ST &

same for the year: HHH BRI 2
a) 2014 a) 2014
b) 2016 b) 2016

c) 2017 c) 17
018 2018
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5) Find out the day on which Ramesh was 5, 3 2000 # IW R} # wany, R =

l. It is a date, which is also a perfect I. 98 mt@w @ it 21
I T:e date next to his birthday is a Prime "'m 2 » e
number.
a) Only statement | is sufficient to answer
e o - a) gfmmﬁtﬂwmmlm
b) Only statement |l is sufficient to answer b) Uy &1 IO aﬁ t m m YT Il
the question gafa 21

¢) Both the statements are necessary to ) UN BT I 21 & fw I @y

the questio
\}/I':t:“of ‘t'he st:tements are not m;’mmﬁtmm

sufficient to answer the question. T B
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